New Section 1 Page 1



ST-2

2.

RJBResult ‘
A3) *
SECTION -1
T - |
CHILD DEVELOPMENT AND PEDAGOGY
et forhra wd fvgmarea
There are 30 questions in all in this section.
All questions are compulsory.
WaEg i Ha 305 E |
ft wom wfrad £

Which of the following may not be R
respecting individual difference » expected from a teacher to keep in mind while
(A) Ab:li!y grouping (B) Adjusting the curriculum

(C) Leaving Children for self study (D) Adjusting the methods of teaching
syféera faftrran 1 ¥ Hd 3w, v fies @ w0 smm T8 Hi o wHd @ 2

(A) WraER e E vwmwe | (B) / wrgaeat w gl |

Wﬁﬂm%ﬁqs\ahi (D) foreor Rt} ) w0 |

When both chronological and mental age of Poonam is 9 years, her intelligence category

may be considered as
(B) Sub-average

(A) Superior
(C) Average (D) Genius
uﬁwﬁmuwmw9mt,ﬁmﬁgﬁ—aﬁxmaﬂﬁmt
(A) I8/ (B) sfwad=®n

(D) W=

Mm

Which of the following is the characteris
(A) Poor Socialization
(C) Poor Communication

tics of Autism ?
(B) Stereotypic behaviour
(D) All of the above

Pr 7 @ F @ Tt & o & 7
(A) FHAN AT SHATER (B) ®fgug =HaER
(C) IR EHT (Vm,mﬂ fftga mft
individual’ iti itatively should be termed as
The process of an individual's capacities quantitative
(B) Growth
(A) Development .
(C) Equilibrium (D) N Maturation
TS SAfeTa msﬂgﬁmﬁmm e
fyrE (3FETHC)
EQ; Tiger (gfefrfia) (D) T (Agte)
_ - p.T.0.
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For the pro
- Proper development shi o
fOHOWIHg : (which Ong .}) n Ofa thld at adﬂ]cscenl Stage‘ pare“ls and tea(.h dﬂ h

. chers can the

A .

:B)) lf){re:ld(einng Proper gender education

© A OViding Suitable environment

D) anging guidance and counselling services (if requi
All of the above y = (i required

o
i!'h'-!m?) Wﬁ%mmiﬂm‘ﬁmmmmﬁmmi:(ﬁnﬁﬂ

(A) fom fvan o 3fea s 2
(B) 3w avaran wem &

(©) R E T g ——
St frfiaa oft, T (3% S R )

Which of the following is not related to Action Research ?

(A) Action research helps in theory building. '

(B) It enables us to solve practical problem.

(C) Focus on problem that are of immediate concern.

(D) Offers formation feedback such that aims and methodology are open to variation.

= 8 8+ frarers v A defua a8 2 2
iy fargia Frafor § wemar s 2 |
(B) ¥R SATIEING UL & GHIYTH &4 § GEHF 2 |
() @fE fHaas s s s FRadad)
(D) ,¥E TEATeH Siafsran ean & A4 3gea 3ik yorreft, # qen viad= & |

A teacher is going to apply the principles of Thomdike's theory in the classroom. What

he/she should not apply from the following ?
(A) Children should be made ready or motivated properly for learning a task.

(B) Children should be oriented to a discovery approach towards learning new things.

(C) Sufficient practice or drill work should be carried out.
(D) Teacher should try to make use of rewards as properly as possible.

e R 1A i § arerds % figia B e Fe 91 @ R | Feffea 3§ @ wn frs @

T A€l HT 91T ?

(A) dﬂh%maﬂmﬁﬁﬁﬁ@“ﬂ%hmm |
i @1 7% <15t e 3 @i fafy & for 3=pw o s nfe |

(C) 3 e e e rd fan s e
(D) ﬁwﬂﬁmﬁwﬂmat}wﬁaﬁﬁﬂmmam|

is the inability to distinguish between one’s own perspective and other’s
perspective in early childhood. N
(A) Centricism (B) Ego centricism
(C) Animism (D) None of the above

AT % ANH F9 71 a0 & A # Heh B H I ) guiar d |

(A) e () (BT 43T %5 (it Adfermr) *
(C) SomeHaTg (THiHtH) (D) ¥ & H§ T
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9.

10.

11.

12.

(5)
“When someone fails re ¥
A peatedly to ov
simply places excessive ‘o overcome weaknesses and achi
has A A achieve some mastery or
sbove statement as “inferi emphasis on some particular inferiority.” .
orit X y.” Who illustrated the
:2)) E:rrl th;stav Jung Y complex EB) Sigmund Freud
en Horney reu

sl g 0 (D) Alfred Adler

HTUTTA: mﬁammmasiaﬁmﬂMﬁ Wﬁﬂim@mmmtm
-7 wamwmwmﬁw«m-w-
(A) T T g (B) ——

(C) = el W TSR

;l‘:;: h?‘e\? idﬁ':cient f“]"“ of learning approach, on which Bandura and Walters focused 18

ph ard and Punishment (B) Observational Learning O Imitation
(C) Self-actualization (D) None of the abov
w7t Frqurarget sAferms fora f :
o g o afeet 3 9 R a?
(A) TCEHR a1 & st A1 FTH
(C) Ta-arafahE (D) i ferftga vé 7 |

As per Right to Education Act, which of the following is not a role of teacher ?
(A) Complete entire curriculum within the specified time.
himself or herself in private tution.

Teacher shall engage
ending school.
ement additional

(B)
(C) Maintain regularity and punctuality in att
(D) Assess the learning ability of each child and accordingly suppl
instructions.
‘W%MW'%Mﬁniawm%mﬁaﬂuﬁm! ?
(A) ﬁﬁﬁamﬁmﬁﬂaﬂwm|
,ﬁrw_aﬁgaaﬁwﬁmmwnﬁmmmn .
(€) W%mmmmmmmmﬂmmml
e JEH A & I 3 wfaftaa AR WTH

s aee |
- v structure, which of the following would
- ediately and reflexively as they arose, without regard to

satisfy its fundam kind ?
rules, the reality of life or morals of any (l;) Both ego and Super g
@ S e e e e
?jmwa(ﬁﬂﬁ“”w‘ﬁmm o 1 3rsders w1 ) g
ward ? - 7 T O A (Bot
. (B) (Both Ego and Super

(A) ql:l&?!‘l(SUP“' eg0) (D) IEH, -
(

P.T.O.
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13. In which of the fOIIQWing lcc_hrfiquc. the child eam
desirable items, services or privileges ?
(A) Token economy (B) Shaping ;
(C) Extinction . (D) Coven Sensitization
P 3 8 3 e % Siovi, o e e S ) ren e 8, a2 4 4 o
o 19, H AN | a5 g R 7

A sa?raﬁl (Token economy) (B) T3 ) (Shaping)
(C) f¥=ite= (Extinction) (D) Iy%e w3dwm (Covert Sensitization)

STy
objects, which they can exchange for

14. Students encountered many conflicting situations 4

example a student wants to admit his mistake in front of the teacher but at the same time
he is afraid of being punished by the teacher. It is best explained by

(A) Approach-Approach Conflicting Situation.
(B) Avoidance-Avoidance Conflicting Situatiop,
(C) Approach-Avoidance Conflicting Sityation.
(D) None of the above.

mm%mmmmaﬁamm
wﬁmﬁ,ﬁ%%uﬁmﬂmﬁﬁaﬁﬁﬂnﬂ%iwﬁmﬁa%m
(A) —vafa Rt oy (B) o — ok Rt oy

Y&fa — i fedrammdt whfafy (D) 39t fofiga = 78 |

uring their adjustment process. For

15. A 5 year old child has a general lack of responsiveness to others. serious deficiency in
communication and unusual repetitive behaviour. Such characteristics are the sign of
(A) Hearing impairment (B) Scholastic backwardness
(C) Infantile Autism (D) Leaming disability
T i & 7 3 gt 5 wf s o g 3 w0 2 HEHT TER I TRAR
FAR | 70 e H T fow < a1 weftes 2 2

yﬂmﬁm (B) i s
v e (D) , Fiftrm e
16. A behaviour patter involving self-starvation that often arises in adolescence and
especially prevalent among girls is known as
(A) Anorexia nervosa (B) Delirium tremens
(C) Autism (D) Down Syndrome
el 8 | Tt v v e 2
Mm arm / (B) FeARaH m
(C) e (D) & R
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17.  Which of the followi M
WINg term ros
: refers to farsightedness ?
(5 ujUﬂ\) Optic Atrophy
O /ﬁ) Hyperopia (B) Astigmatism
0
i a e (D) Refraction
TN "E"*ﬁ!ﬁmmt ?
(A) HifRw @ P
© (D) fobaem
18. lnéightful theory of leaming js given by
(A) Thorndike (B) Gardener
(C) Kohler (D) Hull and Tollman
e 1 sraETies Rigia gra far mar 2
(A) ~IHETEH (B) TER
BowUs
(©) (D) & Ul A

19.

Which of the following body regulate the training policies and programmes
rehabilitation of persons with disabilities in India ?
(A) National Council of Teacher Education

(B) National University of Educational Planning and Administration

(C) National Council of Education Research and Training

h the field of

Rehabilitation Council of India

B § @ W o gyl Pt qon SR @ R FEiE §

fraragT Fa R 7

(A) g e fra oftsg
(B)mmmﬁmﬁmﬂm
(C)~ Tt e FFEUA T e RS
(D) W gate TReg ! n

New Section 1 Page 6

# yra #




F (8)

20. “# a particular stage children begin to use Primitiye :
aswer of all sorts of questions.” Piaget called this _‘imu;t_lfa's?nmg and Svaek 59 l_cnow the
folowing stage, he means ? ve'. As per Piaget, which of the

(A Concrete operation (B) Pre. _
(C Formal operation ) Pre-operation

(D) Noneoflh bove
Wﬁﬂ'm“ﬁmﬁﬂ*ﬂ a AT € above
o e & 1 R A R st wmd %ﬂswﬁgm“‘ﬁm*m’ﬁmm

(A) ’Gﬁimﬁnm Mﬁ_mﬁqiiﬂmﬁww%wt?
(C) 3=t garem ¢ (D) “ﬁ“ﬁi\ﬁm

21. Mot of the children speak first meaningful word at the age of

(A) 3 months B) 6
(C) 35-40 months }D)]‘ |$ ]0 ;::th
G T W U T 96 39 3 werd § :
(A) 3wdR AB) 6 &R
(C) 35-40 wéR i LT 10-13 w3
22.  Who s the father of “Theory of Multiple Intelligence” 9
(A) Vygotsky (B) Brunner
(C) Alfred Binet (D) Gardener
-9 g S s am E 2
(A) TIEMeEh (B) W
(©) 3%z fire ELD)//rmhx
23.  Who his given more stress on the Phil hy of Soci ivi
(A) Vygotsky € i 050(];))’ Opgggal Constructivism ?
f(:*'(qg ﬁl)ewey (D) Kohlberg
A e wmfvres wemaTe 2vh @ Feaftes vt fn 2
I ®) far
(O i (D) et
24 ‘Xhicl;;f the following is not an example of assistive technology for visual impairment ?
B NS (A)  Large print book (B) Magnifying computer book
ONZZAC) Speech synthesizer
NG g (D) Supplement to text book
_ thﬁmﬁaﬁmﬁhﬁ#ﬁﬂmﬁwﬁanm?ﬂ% ?
(A) i%ﬁiglﬁﬁmi (B)~ T Fogelicha foramd
(C) amft Hvers (D) TGS HI IS
25.  Hearing loss is measured in terms of
(A)  Hertz Decibels
(€) Watt (D) Pound
o 3 fapfa i 19 et R
(A) &aH (B) e
(C) afed D) dte
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motor skills ?

Which of the following is an example of fin®
B) Hopping

26.
(A) Climbing ( PF
(C) Running (D) Writing
mﬁﬁmqmmmwwt?
(A) =@ (8) X
(), ‘W

27. Meaning of Schema is
(A) Chunking Mechanism
(B) Learning Techniques
(C) Organized packets of information stored in long t
(D) Defence Mechanism of body

erm memory

(B) e faf

mmwﬂﬂﬂm |
(D) st wfvare Brarfafy
to break intelligence down into variois basic
process it and then use it to reaon and

g theories are known
g such theory ?

oy to take in information,

28. Information processin
best known for propoundin

skills that people empl

solve problems. Who is
(A) Jerome Bruner (B) Jean Piaget
(C) J.P. Guilford (D) Robert Sternberg
e e Rigia e # R mm@ﬁﬁwmﬂ%ﬁﬂaﬁﬂﬁt, i <
G T F, wmﬁmﬁmmmtmmmﬂ | 38 W S faga
1 wfaTe &0 2 A8 AR A T R 7
(A) SO (B) A
©) A feeE (
29. Select the ‘educable’ group based on different level of 1Q.
(A) 701090 (B) 30to 50
(C) 50to70 (D) Below 50
frer o e 1Q e i “Freofta @ B |
(A" 708 90 (B) 30®50
Oy 50870 () s
30. The unit of heredity is
(A) Chromosome (B) Fertilized egg
(C) _Gene (D) Zygote
FafirRa i 3TE ]
(A) wmEEm (B) fnfma 37
(D) 35 p.T.0.

.—'—’I
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(10) . ST

areT - |
T-T e
HIMDL =g @ug i Hel 30 TH R |
aoft wem a2 |
qﬁmm'mﬁaﬁwﬁmjﬁ%?
A ‘ﬁaﬂ:mf ®) frm g <
) fin-smEa (O) T

32.

33.

3.

35.

3.

39,

Wﬁigﬁama\tﬁéﬂi'mm@wmm%? B
(a) e s e Frere dau R | By S s arfees e Eau R |
() S 3t i 1 9@ FFE R | (D) Sft it e o wem dEu R |

wﬁﬁﬁwﬁnﬁm' 319 ) AR B H R 7

¥ 1 # ofad (B) S g 1 A
) ¥ (D) 3 e 3T 9K

Mmmm
a8 FTEAT FETR 1 e Y A -
(A) F8 ¥t FEAET (B) SfeTargdes w1 S
() R-Frder an DY o 1 e T fer 38 -4 e
g T TR T T & A S g 2 .
(A) M BonUS (B) @
() fastwor — (D)‘ fopanfersram
et fafty 1 3wg 7 R -
(A) geafaum (B) FfFa
(C) wEHt D) IR
s fiven T v & for fafty o i f el 2 7
Ay g fafy (B) A faft
(C) ﬁ’ﬂqﬁﬁ/ (D) Wﬁﬁ
$.05. s 3 foven & B w1 vl s R R 7
(A) T 3 By A T
Feresyorresrs fafty i s 2 2
Maﬁ (B) auid ¥
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an

40.
(A) THHEE (B) A
©) o Q’OMU/} (D), T
41. aﬁﬂﬁﬁﬂﬁrﬂiﬂﬁﬂhmmgmaﬁ‘l?
| (A siTefives TR 4 (B) ﬁm”ﬁ’“‘;‘t
(C) wmefiE w® (D) I AATE
42. e graft @ -
(A) ¥= fawgasg (B) e :
Oy weeraEeEt (D), Wﬁ‘“'ﬂ@“ﬂﬁ
43. qARAAER -
(A) e amt (B “‘:::;h
(©) - aw (D) wE
44, i Freaea whgor 8 -
(A) fonens ffifa wligor (B) W“fqﬁ'*""
(C) Iefs who STt T
45. sﬁ.ﬂ.ﬁ.ﬁmmmﬁniﬁmﬂﬂt
(A) Tt 0 ST (By ITHI B SATTHA
(©) TR s Dy S SR
P—— LA

SEER

47.
48, dATETHIAN R -
(€) T 6 Y F1 FaGA B |

49,

wmmﬁmﬁm@a@mwi.ﬂ
W@mtlwm%aﬁmmmﬁﬂ-

(B) T8 eH
(D) Rt 3% gy e & 3

(B) fareewoneTe
(D) SATEATHS ¥

(A) e I g e frer R ey v 1 yaf R A R |

(D) TR g A o g I F |
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mm%m«mmslﬂssm%mw: STy

Wmﬁﬁtlmsﬁﬁwiiwmmzﬁﬁamtlgﬁ
mﬁmmﬁxﬁtﬁnwmmtlﬁwﬁwmﬁwwgmwmmﬁm_
Wﬂmgﬁm%lmmmmﬁ*mﬂwﬁw,wmammﬂmm
8 1t o T 3 R 3 T e e g i
ot e R o1 | - SR 3 37 e 6 Rt i 35w et v o g | s
3 ] wx srert ) S, A, TS s U I B aa g |

51, ‘e v d PR @ g g R 7
(A) w9 Y \-/mﬂﬂ“&l
(€) IuEfH (D) T EfY

5. AR-wE AR AR WM EHE R ?

\__A) T (B) readfiva
(C) @ (D) =g
53, ‘Iepy @1 ud faeim WAy |
ym (B) ¥
(C) HIHR (D) FH

54, “wamaeEl weg % v v wet A @
(A) & & 781 @ Fa1 H qrell (B) wFAIA
Oy B TR & ek B (D) for v et TN

55. 379 & feeft vreg wamu
(A) TE @) R

(C) =afe : W
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m%ﬁm‘yﬁmﬁmw:@@?ﬂmwt | el & faeam & au-w
s ¥t S S 791 R | w1t e e ke @ 7 & o et vfvg R R wE
o T T 9 e & | w5l ¥ st e we & §30 U1, 7@ T 9 3 9/ 24 # =
2 IM%MWMW S —— | o AT P v
w1 €1 | 31 s a1 v & 1 e e e rer-gie of o @ T | S A S
-3GO 3 o o e 3 ot | af v of bk 3 feT w3

| AT | 7‘
56. T R T w1 9w gfein st @ w7
(A) Tam - LBy T \
(C) drarE (D) wiorH ' \
57. o A 9% wee qarge Rrge g=a e fom s oft aftfRafa § = ager \
(A) et | B) fafx
(C) &R M

58, ‘IqafamaTe’ weg %1 Ee e qany
“(A) 3% g Rt frd g Y i ward s |
B) wfers 3aft & frgia
oy st & e wivit o o @ e fea e o

(D) 3I9ENT & T 9
59, w&mmmaﬂﬂnﬁammmmmm@-mﬁmamﬂ
wfFgEe ? ) |
\(A) A AR (B) ®few adwH
(C) g FAHH Py wwen st
60. wmma@mmz'mﬁiﬁﬁﬁmmmml
A) s (B) 8w e TR TR e d |
o D) e e T e |

(C) SR} &H @A e
) —
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@/ ozo \}) / SECTION - 11 E V?’I
‘ | There are 30 questions in all in this Section.
. All questions are compulsory.

31. Which of the following sentences has the correct structure of queslf,on ?
(A) Do you have got a car ? ABY Have you got a car ~
(C) Did you have got a car ? (D) Did you got a car ?

32. The passive voice form of the sentence — ‘Thieves broke into my house will be
A My house was broken into by thieves.
(B) Thieves were broken into my house.
(C) My house had been broken into by thieves.
(D) My house was broken by thieves.

33. Which is the correct option ? _
(A) Raghu is the tallest of any other boys in my class.
(B) _Raghu is tallest boy out of any boy in my class.
Raghu is the tallest boy in my class.
(D) Raghu is the more tall boy in my class.

34. The passive voice form of the sentence * “Who wrote this poem ?” will be
(A) By whom had this poem been written ?
(B) By whom has this poem been written ?
. By whom was this poem written 7
(D) By whom was this poem being written ?

35. Which of the following sentences has the correct structure of question ?
(A) Why hadn't she attend the meeting ?
Why didn’t she attend the meeting ?
(C) Why didn’t she attended the meeting ?
(D) Why haven't she attended the meeting ?

36. ‘Thematerial should be according to the child’s mental age, mental ability, grade and level’.
Which principle of teaching is involved in this statement ? i

(A) Concreteness (B) Accuracy and correctness
(&) Selection and Gradation (D) Proportion
37. ______ means equal treatment t i . ;
(&) Hiabit formation 0 vanous(cl;mpﬁ:]t:nréztof linguistic learning.

38. Which princi i i

8 mlcth:l';ﬂglcei ;}5 l:?chmg English creates a zeal to learn something new in language ?

L€ The principle offn‘gl?e" order  (B) The principle of habit formation
. tivation (D) The principle of selection
. The method emergeqd :
?1 ethod ils “78ed as a reaction of the various demerits of The Grammar-translation
: A) Bilingual Methog .
| Direct Method (B) " Play and Learn Method
(D) The Sentence Method
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40. Which method is also kno f teaching English as second lang
(A) Substitution M,_.thodwn as Natural TBethod) Gfammar-lmﬂslﬂ“““ Method
(C) Bilingual Method Wmﬂ Method
41. Choose the productive skill fro i
“(A) Listen_ing e ﬁ,"(?;;ns Reading
Speaking (D) Reading aloud
42. What [t,l,o people read for pleasure ?
iterature '
(B) Labels
(C) Report (D) Dictionaries
43. Which technique of reading is used to get at the gist of the text?
W Sklmmmg (B) Library j’;
(C) Scanning (D) Aloud - 4
44. Which teaching aid can be used to teach listening comprehension ?
(A) Text book (B) Word cards
(O Tape recorder (D) Picture cards

45. What can be used as props for dialogues in order to teach new lexical or structural items ?
(A) Text book (B) Reference book

Ye) Realia (D) Dictionary
“The testee has to replace the underlined word with correct option.” Which skill is tested in

46.
this statement ?
(A) Reading (B) Listening
Writing (D) Hearing
47. measures a student’s achievement in relation to a specific task which he will later
be required to perform. i
\(BY Proficiency test

(A) Productive test

(C) Integrative test ' ‘ (D) Objective test

48. test measures the language skill naturally.
(A) MCQ type (B)~"Subjective
. (D) Reading

(C) Objective

49. What is the cause of failure in learning a second language ? it
By~ Over simplification of target language

(A) Home assignment . o |
(C) - Diagnostic test (D) Reading strategy

50. Grammatical Errors refer to
(B) Spelling errors

(A) Inappropriate words
(C) Lexical errors | ({B)" Errors in syntax

New Section 1 Page 14
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SSage-1 (Q. Nos, 51 to s;;ver the questions that follow -

€ pol : .
Pollute our Environment by throwing different kinds of waste carelessly. My

u W
Ction, aste reuse and recycling are the preferred options for managing
. . sy N w“‘t

Read th
Prou Pe.paSSa

slo ' 1
. L_(\X’hf‘h of the following words is a synonym for ‘dump’ 9

1Spose of B 1
“ ©)  flourish go% deck
' \’(,T%m“m)’m.of ‘reduction’ is s
©) Promotion (B). diminution
- . induction (D)  decomposition
= Which of the following words is correctly spelt ?
( artile (B) Furtile
Fertile . (D) Fortile

54.  The verb * ’ i
pollute’ can give us the noun
(A) pollutation ;_,(83/ pollution
(C)  pollutable (D) polluted
Ss. Find the correct one word for the phrase given below :
Converting waste into reusable material’
(A) garbage 48] recycling
{C) managing waste (D) breeding
Read the passage and answer the questions that follow :

Prose Passage — I1. (Q. Nos. 56 to 60).
I have access to safe water and to avoid water crisis in the near future it is necessary

that correct policies and schemes are made. Water conservation and its proper management
can also be considered as one of the effective steps to avoid water crisis. India has a long
tradition of water harvesting. Harvesting rain water is one of the most effective ways to
tackle the water crisis. The basic principle is, to collect the rain water where it falls, use it
into the ground. In this Rashtrapati Bhawan is leading the way. It is one of

and let it
the few bmmgs in Delhi that conserves rain water. Aizawl in Mizoram meets most of its
water needs through roof top harvesting,
Which of the following options is an example of ‘demonstrative pronoun’ ?
This (B) 1
(C) Its (D) Then

57. ‘I have access to safe water.’
The underlined verb - ‘have’ is an example o
Verb in simple present

(A) An auxiliary verb
(C) modal auxiliary verb (D) verb in present perfect

58. Which of the following has the three degrees of the adjective in their correct form ?
A) Near, more near, nearest (B) correct, more correct, correctest  *

( !
(C) few, fewer, the most few (D)~ effective, more effective, most effective
In the phrase ‘water crisis in the near future’, the determiner used is
(A) _water (B) crisis

ey the | (D) near

60. Conjunctions in the passage are

and, that B , of
"fg where, let ED% amsogt, through

56.

59.
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37 B s &R |
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31. “Prafet v 2 sere e o
(A) Torgwm w2 _ ;zETHTiégz;:;=[‘Ii‘af! |
& s .
(A) 9 ®)
i ®
33, Tewear Wl gf waewa
T ST T |
(A) TR ®) R
oy~ @iy (D) R
34, SeferRee aTee areguiEd BE
q1feTehT g THT | |
(A) fereRaT ATes T | By e e e |
(C) wfeTaT A1eH: T | (D) iR Aieh: 3 |
35, qrfig geuad
og: fagom " |
(A) §: & H: | (B) W: NET: HI: |
(C) §: FHfHor o | \(D)~ " &M F: |
36, BET ST T fera: |
\ AT argfargfattET (B) WAt
(C) werefaftET ) BRICUSHE IR
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F .
37.  MRATEEEA: WA %1 vghy. Frermge wafy 7 "
(A) WvETETZR: LB e,
(C) vrEagEHyZh: (D) Frafugzfy. '
38. -ﬁmw-ﬁm;m:mm?
(A) Fafurga: (B) "vEREyZA:
LeerT vrgagersuga: e (D) TR,
39, as:ﬁmwfhm:mﬁmﬁm?ﬂmﬁwwﬁl?
(A) g fagr: (B) ¥ fagra.
(€) WeFsria fagrm: D). frgr:
40. % fagra: “Bramieitgr: sf e e o
\ LA e fgr: (B) w@mifesrarar: fagra:
(€) wgglt frgra: (D) e ey = Frgr=t:
41. wfafaty ey Iqagerey WA gk b el ey 7
(A) ﬁﬁﬂg L b(’B)/-g 1
(©) m (D) Wﬂﬁ&g
42. mmmﬁimmﬁ?
(A) TR (B) WEThlvrey
(C)—TvrtTe (D) TRETHNET
43. FuiTERvITER Fe Prafie sfie wafy 2
A (B) wevifZwe
©) wf3ae (D) =R
44, mmmwﬁmmm?
(A) TR BY GRS
(C) TSI (D) sy
45. WiRTRIAE IR W 7
(A) Ty eafrafre
(C) wraTf3re ®) .

N
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RJBResult F

oyt . phour (19)
40. ‘lﬂlﬂqm ¥ & R

:CA; ,&ﬁw " (B)

(D)

o T S e e 7

M E'E"'"'( (B)

(©) a@ﬁmﬁm o)
48. WIETHR 1 9hE s 2

(€) Freusyghia D) PremTEERET
49. FEpafi) e e

(C) Tarverwomeresfirgom D) ST RIS
50. URSHANTAIARATOTEER FE ITREa 74 ?

(A) FTHTEHHIH (B) WATHHIHE

(©) Trarwa= D) I T

SeiferRaey rafad meries s Prefefaar: 5w : (51-55) @Ha:

qUETEaHELI Tt faE: sreadegaEl ¥ Iwad | o forameea i g =
frad TERUIREREE @3N FE: 49 v sEead wE I8 woed | g e

TaaRiEE ¥ SN Avaq | Gha: T wi s swave whawd: | s
wfyaed wrer ged Feea: Fa: | Tl ol wft fres e e wvEn sl

FIarF |

st o farees i g an R sem s e 2
(a) Vo
(C) @ ‘ (D) T
52 ‘THIEY $AfeH 94 %: G 7
L/GK)/W‘: (B) eiivma:
(C) wgifE: (D) =
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’ )

20)
53. “HEARAY ¥R 9 qervTg: ®: 7 ST
) . (B) ImaR
L 1 (D) 3y
54. ‘“UTEE” ¥ %: WG 7
(A) = B) T
(C) Wy m
55. ‘ggr” ¥9a w1 favfd: 2 |
(4) we - BT el
(C) T (D) fidrn

aniferfgaq srafed ey sraensy Frenfigar: we: (56-60) g -
wraey: favarerd 3 7 59 agm: 99 yEw: sAE gty ywe arenfa W
whfed wafa | &: T 9 WRd 0 - SR - aEeH - Gramseee i sroned s
el | A 3 Wi 9g - g Y srene 2w Ryvee aniestes: s |

56. wafe s fafufrgesn w9 wafa

(A) wag (B) 3IWaq
ey waq (D) wieaf
57. ‘A= 3 98 qeng: : ?
(A) W \.,(B)/iﬂ
(C) = (D) H
58. ‘“HTigY®:" FOE UEH SR w9 wafy
(A) wriehRih (B) wried®y
() T (D) e
59. ‘“ﬂﬂ:“ﬁmﬁm: ®: ?
(A) s (B) afe:
Oy 3 ©) T
60.  “TRY ST: T FARY yeury -
(A) TR g v 7
() wraw ) S
(D) @
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§T-2
ERN
, QUg _jp
H\V\Al"% RS
=
"y
Mmm*m%mma L
V(»k)"‘b'ﬁﬁ » ST O wreh
(C) Wit (B) wRwh tohow d
62. forfem wmnft ) g oy oy S — (D). o
(A) :a:rw ﬁ“?;“"“"‘"mﬁ
O e ) S T
(D) wwda ary
63. 37 e 1 R @ g
A 2 e
© =
64 wfﬁmﬁ!miﬁﬁmvwm%mh
| Haa N wwym ¥
Tﬁwmmmmmmt?mmammmm
T Hfdan (B)  redwy sfian worreht
65. éaﬁfhaﬁwﬁmmﬂmht
(A) TEd & BT 1l wiezdw
£
(C) wit| = (D) !ﬂ‘mmrw?
66. mmﬁmmﬁﬁmmanahﬁqmmﬁmmmmt?
(A) IrsaTHe woreh (B) HE&am yorreht
C) g someh (D) e womreft
67. “wu faft § i & wem & fredt Tl B wgrEn w2
sl i e wY o @ fift %
(A) e faft (B) weuw fafy
(©) F=Hhifafy D) i fafy

68. 'ﬁmmm%m(ﬁmaﬁIWM&aﬁmmmmm s
Feas ¥ forg wamug aun Gie & 3HE & uew R lﬁﬁiﬁttmamw?ﬁm

L I '

v wy Prferfea 3§ & e R 7

AT 4. dfemm wgad (B) .. qem
©) {3 (D) T

—— _—
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(38)
69. mﬁmﬁmaﬁmmﬁmﬁwmammh ST

(A) =TS WorTedt (

(C) vreereiehy= Worrefi \f?)i/mm' ! Sorreh
70. WM gR AT P o

W (B)

© = (D) g

71w & e v ar e @ e g

72. “mwmm%mﬂl{é%mw’

(©) frm rbed 3 o ;a;mﬁaa
AT (B) fm
(C) st v (D) T

8 9 area %1 anarg
(D) Wwﬂ?ﬁ%ﬁﬁaaﬂawﬁféﬁm|

(A) waeq fafy
(C) R Ry (B) wﬂm
Frafea e : Frrferfiam i 3 amaw v sv e 76 2
% 3 diftrg
W%mmwﬁm-m 76 9 80 9%
FHRIH AR THTrew 3 o g § | % 2 7o & o s Frrsmadt | @
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ST-2
77. ‘Tl & gt § - &
(A) ¥ e
© ¥ vt W
(D) ‘fa=’ Iyt
78. ‘T YRGR -
- w =
Py~ R
79. ‘¥ wEmR -
LA TR - Jovares (B) ITHIEY- oA
) FroEr= (D) wEYEEE
80. P dfrmest.
(A) 39! (B) R
\,LG)/‘WIT (D) S|
rafea warre — Freferfaa waie & smuw w we den 812 85 7% % 3R AP -
R'ﬁmaﬁﬁt, 1
g2l #1 i  wer | 2
mf= | % 2 wfR 2 3
7l ot Pra fgadi @ srg @ 4
e IergrEn wmomor § 5
Hi A v & 6
W& -9l @a-a1g 7
7 78l W S T 8
W e, I g & 9
3 & Sftg-m T 10
71 fireft 7% w43 H
H gEH! I T 12
7z, P g v @ 13
3l 61 & v wEr | i
81. vumHiwwie -
(A) SR T () *fmien g
(C) sy g (D)t g

¥--

New Section 1 Page 23



(40) ST ‘
’

82. #HAH mwgmgﬁmﬂﬁwﬂwﬁt -

Hr-yre @ d8 -1 & (B) W@maﬁ;ﬂ
(C) wed @ wETGL E (D) Ysfiafa 7 arwaa
g3, w1 wEE -AFRF AR - '
(A) Y (B) PRI
ey femw (D) T
84, e B G faE g T R - it
(A) TEen @ gET (B) 83
y/amdazad (D) TREEld aREE!

gs. wfa fava #1 g A @ O e e -
yw‘fﬁsmﬁggmwﬁmtﬁl(m ST Frea e 1 @R |
(C) it X e g A geiv # | (D) fram i@

(A) 2 (B) et

(o T e (D) TREA
87. ‘TaEM A 21 3@ WY A A1 eenita 1 3 R -

' @ =et S

ngmmm (B) 4@

(C) @ 9§ 9 (D) Fed-Ted) W
g8. “f wem & fpara Rraa § 1" F #rE w1 W R -

(A) FH FH \(BY % T

(C) HURH SRS (D) =Y FH

89. THERAH A H HHAR -

(A) HY=ENS By g
(C) foremfeas (D) Frarfem

90. “&% v 2@ wNA U HHwTen § I ot |” e R -
(A) HYF AR B) fmaw
NE(Z gl Gkl (D) wfee AT

o
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y @ ﬁ

¢ 14~ Qoit :
ENe LTS & younce

There
are 30 Questions i Ty
61. Identify the worq i, which l‘:el questions ';:em all in thig Section,

(A)  Concept d A€ compulsory,
(C) Sect Mmﬁf?ﬂy‘cm flmm the other words,

. Pick out )
62 ;\c .O,ll the correcy transcripion of the gorg Concfe:‘t
(C) /dginrik [))0 I\IL/jé (B) %‘;‘;ﬁnni
. B) Jgem
“ Er:i( m%é:? fecount the p Nciples of | ¢ Ao f‘eqk
IRE can be difficult anguage teaching

Desired goal of teachi .
() Only linguistic habits cgn pre.ch 1a08uage can be achieved

(D)  Only learning of English as adCVCIOped

o Bt ot et
Inguistic and educati inci
(D) None of the above & ucational principles
65.  In Communicative Approach o teaching the teacher must know why it is
Better to tolerate errors in students’ attempt to express their selves
(B) Not to allow students’ to express their selves
(C) Not to tolerate errors in students’ attempt to express their selves

(D) Better to note down the errors

66. One of the language disorders is found when;
(A) learner is missing the cllass
B) _learner is speaking in class
o) learner speaks in short and fragmented phrases
(D) learner speaks the full sentences

i means when a child has_
e disorderunderstanding the meaning

(A) Difficulty in soding the mosniny
i Ity in expressing his/her thoug
f g; ?r!ofgg?e gr:)l::lucglg some sounds accurately
By Either or both (A) & (B)

68. Articulation error oic:;sb i(:ue to
(A) Formee d clipping sounds

LBY~ Slurring over an |
C) Leamer's intelligero® to stress & intonation

%D) Learner give importance

ing | ifyi i blem area
' ching involves i B) Rectifying a particular pro
” (I{Ac;ne?:;:ggeﬂ)‘e“‘d‘}g r"(’“B’)'“"g — fo) Neither (A) nor (B)
\(&J~ Either (A) an , on: )
70 icative approach 10 Evall;:l!;lrt;ﬂ S(B) Fluency & Flexibility
‘ ?:)m n(li'u:ntent ric(vancy & Vocs (D) Neither (A) nor (B) P.T.0.
(e Both (A)
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(42)
F : . .
of evaluation outlined by CBSC is

) Receﬁ(‘:zcnl:;?c;ensive & Continuous Evi]uation

) Continuous & Compl‘eh_cnsi-ve Evaluation

(C) Continuous & Communicative Evaluation

(D) Communicative & Continuous Evaluation

2. Remedial teaching should be carried out after identification of

72. (A) Text and test

(B) Textand learning

alady on language test and its causes
(D) Merits of teacher

ial program is designed k
L I(?::‘)“ edl?,m:l{'“s;otud.'mt‘s strength
(B) Each student’s weakness
27 Each student’s strength and weakness
(D) None of the above

74, Remedial teaching is a '
(A) Preparation of teaching

ST-2

eeping in mind

(B)  Pre-teaching program
(C)~Systematic process (D) Random process
75. The basic requirement of a language proficiencies test is that it must be
Meliable (B)-. Complex
(C) Ambiguous (D) Simple
Passage :

In spite of rigorous precautions against accidents, man
factories and elsewhere. In addition, some people are bo

m with physical disabilities. They are
either blind or deaf or in some way deformed from birth. Upto quite recent times, little
planned action was taken to fit handicapped people for

. employment. A number of charitable
organizations tried to help them in cases of hardship; but few seriously held the idea that these
people might still have abilities in other directiong.

76.  Which one of the following is the most appropriate title for the passage ?
\/f'ﬁfm Rehabilitation of the physically challenged

(B) Physical disabilities.
(C) Accidents
(D) Planned action
77.  In the above paragraph, ‘In addition’ indicates
(A) Emphasis (BY~ Addition
((_7) Sequence (D) Alternative
78. :Elther htll;nose children or my own son picked all the flowers.
ve T (B
©) is By~ has

(D) are
79. er Passage the author wants to convey
A many people in the Wworld suffer from physical disabilities.
(B) precaluuolt:s are not taken against accidents.
& P;OP,C 10 are physicaly challenged are fit for employment.
o u ) p ysncally challenged people have no scope.
. twot:sy cl.'n_!dren-are a real headache. Two aspirins will make a headache go away. Therefore,
aspirins will make noisy children
Abo t}l}:nc}s l(l:ontain g0 away.
A € Iallacy of equivocay;
(B) The fllacy of fulse anglogy
¢ fallacy of hasty generalizat;
(D) The fallacy of composition e

Y people are injured every year in

;;
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sT-2
§1. Extract :

Your | “
ove :
impression fj]] a:xd Pity doth the
Which vyl
my orow; a sCﬂl'lda[ Slamp‘d upon -
. For what care [ who
or 111,S Calls me yyejj o
0 you o'ev.green
The shyme scheme of the exrap, " ™Y £00d allow %
(C) abba (B) aabb
. (D) abca
§2. ‘One proven way t
heel mean ? d .0 beat an enemy is find his Achilles heel i
gy cel’. What does finding Achilles
(C) Strong point “(’B)/W“k spot |

(D)  Secret strateg
83. The Wolf with its belly stitcheq fy ’

Nibelung wolves barbed | Il of big pebbles;
G%fi in; lﬁ a red sl;.y, v bl:l?s?lt‘;k pine forest
ch higure of speech i s ot
(A) Megapho.r 15 used in the abg;)e/u?ct:i?
Alliteration (D) A’;&:m

84. Which one of the following is sometimes called

‘ lic rhyme’ ?
Assonance . vocalic rhym
(C) Alliteratiqn &B))) m::ﬁcanon
85.  Which figure of speech is common in tongue-twisters, jingles and non-
\%G/A"itmm’" B) Simile T e non-aense verse?
(€)  Rhyme (D) Metaphor
8. It’s a beautiful day. | have "“’“gg)ﬁs umbrella.
(A) mustn’t needn't
(C) shouldn’t (D) couldn't
81. You should your phone call with an emai:lor a letter.
%é) follow on ( ) saonO:P
) takeon
“' “What time Shﬂl] we go shopping Y i “Let’s see how the weather looks and * Insert
the correct idiom. (B’)/play it by e
(A) t‘&ining cats and dOSs (D) callita day
(C) turn ablind eye
. Sonnets usually are in \_(B—)/iambic pentameters
(A) free verse (D) verso tronco
(C) jambic trimeter
N A n who writes a plaY o (B) playright
mwwright (D) playwrite
© playwriter P.T.O.
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(D) Lot~ L2- w0

! — HNET-11
HEpa
mﬁmm:qﬁ|
TR WA HHIT |
61. HEPATATAT WSHHHATHR 1 Tgfa: IIHRBISHaq 7
(A) Srtez: (B) WemmTavZfy:
\ IOy ST (D) TTgETGR:
62. Wi ygat vl e witfigeraret 7
LAY TS (B) WvemaTZA)
(C) TrEgEHILH (D) Frafuuga
63. wTTEEY HfRmyEE wafy
! BT S
(C) = (D) %aviy
64. wepay Hfe
(A) TreeroersTn (B) HCEATEEHWT
() Temefrersym \(D)— SEUTeH ST
65. WIGTHRHTHNErTfE T SR g s 2
(A) I R (B) wfgamn: g
ter e g (D) Mfgweria frgr
66. P[-F WTANHAH Fog b 7
AT ST (B) &@H
(C) &y (D) %a
67. - NI fi g e et v . TEA 7
(A) SR .,emg;amwm
(© TESHIEH (D) TERIEER
68. m:mmmmmﬁ,ﬁ,m:m
Ay VTR B) TR
(C) TN (D) AT
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§T-2 (45) ¥
g9, “FmmrrE 3 o weweh wme wrfey
(A) FEEEETH By HEHEIYAY
(C) FougEIEITH (D) foramamaay
70, TTEATHAAAI FrRHTE g wafy
(A) T=ea (B) wrewa
(C) TR D)ot 7
7. RN, Sl sgET s v wer: e w9t 7
(A) SRS WM:
(©) Ferrsatigm. (D) FEdadiama:
72. Toened Ivame 3f weeey sl 2
(A) ey (B) FEEgEq
Oy wEfaRraToT frestong (D) HEEoRY
73. WA FEERgeaatify: sgfrvgsngafifie sdvud s srufeaadt 2
(A) 1948 a3 79 8 Us (B) 194770 9§
(C) 1949 7R a¥ QN/_, (D) 1950 & a¥
74. ¥ - FgEaARTIEvafYg Had a¥ srREyeaTgRR 9w guy 7
(A) 1965 R (B) 194779
I/(g/msaﬂ (D) 1967 7R
75.  uftaferifremrdare s anfea anEq ?
(A) 1948 a0 a¥ (B) 1950 a7 ¥
(C) 1966 7 7§ Py 1968 T ¥

iRy srafed meriwny smariiee frefign: sv: (76-80) T —
I FAFTE: e Hawg FAIHOFATH WA fEREeremaf | ol s wumEi
YEOemite gaq Y JoN WEHE: WOV SRERYEHaas | mmﬁmﬂu@
Iwfftavi FarEd 9 frreraa e 3ed iRt el w wag, o v vt
Rerrgreg wwmal wfasi o, @0t = Fafl sefrarfiems |

6. g g 9 1 R: 7

=L

(A, T . (B) wﬁ‘ . .
(e wlt oy mwft gy
¥
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¥ (46)

77. ‘m‘"mﬂs:m:?
) g gy
(C) =gdivms: (D) @&

78. ‘W‘ TA F: T Y ?

© T oY T
79. Iy 3 vew sfifads ga
(A) HfR+ anfy (B) g + Afd
\)Q)/W-l-aﬁ (D) e + A
80. WAL FUA H: AHN: WgH: ?
(A) foge=r: - Paftrfrger
(C) & THKR: (D) g AHK:

FeferRaay srafdd veiemaenss Feferftaa: s (81-85) HHTHAT: -

Fgifer 7 Al god ¥R SRidveae:
3 © 7 TS 7 FgH Arergar: qu: |
mu&mma:ﬂﬁlgsimﬁ@uﬁﬁ
st e I e IO YU
g1, iR wgwe Bew: AW ferad
(A) Prafof L4B) IeetehiEay
(C) a@=fderat (D) HGERI
At A %: RN Wq: 7
g (A) FICETHR: (B) TEETHNR:
; (D) WAIETHR:
L) TR
T A %: WA 7
83 A) !IUTE& bg;),/qmﬁ
(®) :
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ST-2 (4
84. “EHY A F: WeUh: 7 ”?
(A) ¥g
85. I v ¥ oy
() 3 (B) whferyy
Oy g (D) wefery

86. ‘ﬂﬂvﬂmwt‘mméﬁmmw

|I LAY R TR v e |

| (B) ¥:7®: v gemfy |
(©) ¥: & v gemfy |
(D) &: Ty gy |
87. WWWWWW
(A) 3% wenfy @ | \_ BT 378 Benfy wrfyy |
| (©) = Fenfy @ | (D) a1 %l wred |

88. w"rﬁrmfwamwﬁfkw

(A) g (B) =:

oA (D) g
89. 7. 7 srpresfi s arwfi wviva

(A) §: ¥ Fgreefy | (B) ®: 7 sryrenfy |

(©) & weg TS | (AD) & o et |
0. ‘werER... o 7 wafe ey e Revear qefirean gftnfi o |
(A Wy JB

() wem ©). *
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(65) F

SECTION.1y /gvg _ v
jn this Section, there are 5 sub-s

.

(v(b) Social Studies. Boyp, the sub.- eClions ie. 1V(a) Mathematics and Science and

he candidate has to ch A Multiple choice Questions each.
studies as selected in the Osi'enher l.v(') Mathematics and Science OR I V(b) Social
Nline Application Form and answer all the 60 questions.

@ G H T I0EE Jyufy IV @) 7P 721 gy o
% & 60 TgFweda ww § | T 1V(b) ¥ Jrerm ¥ | 1 Ivavel

warefl 1 1V(a) 7R 7o Regwr sreray IV(b) wmies sregm, fe s st smder-13 &
mz,ﬁaﬁwnwmaﬁmuéaﬁwmﬁmmhtu

SECTION-IV (a) /@& - IV (a)
MATHEMATICS AND SCIENCE / 7fra aor fgm=

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

waves i oot 60 s § | R snarfifdl 3 gw forea 1w v @ 3 anft e e e €1

91. If ratio of the volumes of two cubes is 27 : 64, then what will be the ratio of their surface

areas ?

A) 3:4 (B) 4:3
\_/Ef)ﬁ'lé D) 33:8 s
o 21 i 35 e 5 g 27 64 2, T 81 et g
(B) 4:3
3:4
:g)) 9:16 D) 33:8

the height of the pole ? (Us€ ® = 7

) 3m
) _3Im éﬁ%ﬁwmmq;;gmmtammlmwﬂa%mﬁﬁ
TF ATATHR
mﬁﬁﬂt?(ﬂ=2mmi]
' ! @) 3T
s ® ot

e - I
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'
93, 20 students

Mathematics :

54, 46, 24, 36, 84, 70, 16
Grouped frequency distribution tab

l/(k)/ :o Class | Frequency
1 0-20 4
2 | 20-40 5
3 | 40-60 6
4 | 60-80 3
5 | 80-100 2
© | .| Class | Frequency
1 | 020 4
2 | 20-40 5
3 | 40-60 6
4 | 60-80 2
5 | 80-100 3

(66)

of a class obtained followin

, 58,6, 82, 44, 54, 32, 64,
le of above will be

.___________..____,__..-—-
(B) | S | Class Frequency
No.
! 0-20 4
2 20-40 6
3 | 40-60 5
4 60-80 3
5 | 80-100 2
®) Nso Class | Frequency
1 0-20 3
2 | 20-40 5
3 | 40-60 6
4 | 60-80 4
5 | 80-100 2

g respective marks out
8, 66, 52, 28, 16 and 30

o w1 % 20 BT A 71 farwa & 100 31§ @ waw: fr= o v Bl

54, 46, 24, 36, 84, 70, 16, 58, 6, 82, 44, 54,32, 64, 8,66, 52, 28, 169 30

I 6t wfiepa e gwf g
A |wd.| = | wawar | (B) |[®E. | * | wwERa
1| 020 4 1 | 020 4
2 | 2040 5 2 | 20-40 6
3 | 40-60 6 3 | 40-60 5
4 | 60-80 3 4 | 60-80 3
5 [80-100] 2 5| 80-100 2
© |#&. | o | wwmm | D) |®w&E. | = | wRawa
1 1 02 4 1| 020 3
2 | 2040
3 Z 2 | 20-40 5
4 | 60-80 2 : :gﬁg ‘
5 |80-100] 3 5 T 80100 ,
2
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Note :  Details of (67) F

Mmarksg Obtai n

jects of inat ed .
subj €Xamination of class aby Seema in Hindi, English, Mathematics and Science

obtained by See'n . re sh . : <
questions (94 & 95?l : ' these subj OWn in diagram given below. Sum of total marks

ects i
S 15 480. Read carefully and answer following

94. How many marks obtained by Seema in Mathematics ?

(A) 93 (B) 116 C) 109

PRSI ey € L

(A) 93 (B) 116 (C) 109 ° (D) 124
95. - How many marks obtained by Seema more in Hindi in comparison of English ?
BoNAx 36 (B) 48 ©) 21 (D) 30

i 3 et F 37rht <) o o fvat 31 s e fod 2

(A) 36 (B) 48 (<) 21 (D) 30

%. Out of following which is not the exact characteristics of objectives of Mathematics

Jon V) teaching in classroom. ‘ .
(A) should be related to life (B) should be in bghavnou.ral terms
(D) should be specific

|
(C) should be testable m%ﬁ!ﬁﬂm .

Prgifepa & & e § 7o
gafma=mRe | (B) st ve) § 8 = |
() e o) i @R |

(C) wheor qrg g =MeT |
s out of 80 awarded by different examiners in a test of

" :&a stude'flt gtel:' S:::)ewzzw;lr:gkcharacteﬁstics of evaluation out of following :
ematics, this idit
sl (B) Validity
A) Objectivity (D) Practicability

2 Reliability J— 3 fore % e 3 80 3 } 42 375 T ¥ H A
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98.  Out of following which is limitation of objective type questions ?
(A)  Guessing
(B) Difficulty in construction
(C) Cannot measure complex process
( All of the above
H & T wem & el B R
(A) M T (B) Fomfor & wfed

(©) wRersPrnsi R Famwwn (D) T oft

99.  Out of following which of the teaching method in Mathematics is difficult to use in forp,

classroom situation ?
(A) Inductive (B) Deductive ({7 Project (D) _Analytic

mﬁﬂmmﬁmﬁhﬂmmmﬁmmmﬁqh
(A) AT (B) e (C) wrieHT (D) favereumas

100. Out of the following, Language of Mathematics is

LA Symbolic (B) National (C) Complex (D) Vedic

Fr=ferfiaa & @ o 6 w2
(A) HFareas (B) T (€) wfer (D) A

101. Out of the following, Mathematics in a strict sense is a
(A) Concrete Science Mstmct Science
(C) Physical Science (D) Relative Science
e % @ gt et 2
(A) v fawm (B) 3ngd fagm
(C) Wiy fasm (D) wmifdr fagm

102. Out of the following which is not the characteristic of reasoning in Mathematics ?
(A) Accuracy (B) Certainty of result
(C) Originality ; Subjectivity
i &t arfbear Y frdwar Arifda 3 @ TR
(A) " Tgar (B) wftom Y fifeaaan
(C) witferwan (D) Towg-fma

103. Out of the following, what is most important characteristic of oral work in Mathematics
for school students

It develops mental process (B) It saves time
(C) Not require paper pencil (D) Able to solve questions )
Frfeen 4 3 R & Rl 3 fr 1§ e 8 s e 9
£
(A) imwmmmﬂl
(B) FwEwETR R |
(C) R~ Ht Sravawm T4 |
(D) e &9 & W vt e} G e £ .
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. Out of the followip whi (69) F

articular] '
p LC Y Most usefy] fo, teag;figet ot uaiide s comiusication wEIogY le
(A) D-Projector 'Ng graphs and geometry ?

Oy Tnteractive White iy, B)  Slide Projector

fPrferfaa 4 @ 53y 1 5 (D) Television

waitos 3w  » ARt Swton farrg i v ames e et frgor 3
(A) wH#, Wotwer ®

© By )

105. The synthetical method sp, 90 ol
uld :
(A) Induction be used to teach geometry in school after following

(C)” Analysis (B) Synthesis
k’é;u q iy v & fir .(D) Deduction
e - T faft @ vam R & yvar fear

(A) HATTH @) @
(€) faverem > F-Fm“ o
106. Value of‘\f-\ﬁ +4/84 + lsq; is ..
(A) 3 ®) 3
© -3 (D) 0
\J;:\fi +1/84 + lB\jE:EHTIWFi'Q
(A) \3 BT
©) -3 (D) 0
107, If (47 — 4% + 4%5) = k.4%, then what is the value of k ?
(A) 16 (g]) 24
(€ 13 ( ok
afe (497 — 4% + 4%) =k 4P B, MK FTNAAL?
(B) 64
\/23))" 1l g . @4
108, 5a2 + 15a—6b - 28b; (B) (5a+2b)(a- 3)
(A) (5a+2b)(a* 55— 2b) (a+3)
©) (5a-2b)(a-3) LDy (a
5a2 + 15a — 6b— 2ab = B (5a+20) (- )
(A) (5a+2b)(a+3) D) (a-29)@+)

(€) (sa—2b)(a-3)

Pe _ poo —
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1000
9 (B) 3
(C) 27 (D) §
1 3192
1000
(A) 9 (B) 3
(C) 27 (D) §
110. If 2x - 3y = 79, x + 6y = 47, then what will be the value of (x - y) ?
A 40 (B) 32
(C) 38 (D) 42
AR 2x - 3y =79, x + 6y = 47 B, A (x — y) 1 7= F1EW?
(A) 40 (B) 32
(C) 38 (D) 42
111. (3x+ 5) — 60x is equal to
(A) (3x+ 10y (4BY (3x-5)
(C) (Bx+12)7 (D) (3x-12)
(3x + 5)% - 60x Py 4 & frmd e 2 2
(A) (3x+10)? (B) (3x-5)
(C) (Bx+12) (D) (3x-12)
112. What percentage of 80 is 80 ?
(A) 64% (B) 80%
(C) 90% (D) 100%
80 %1 fran wfewa 80 2 2
(A) 64% (B) 80%
(€) 90% BT 100%

113. A T.V. seller sold two T.V. at the rate of Z 9,600. Out of them, he obtained 20% profit on
one T.V. and 20% loss on another T.V. How much profit or loss percentage is obtained in

whole transaction ?
(A) 10% profit (B) 4% profit
(C) 4% loss (D) No profit no loss

e 2eftfior Rk 3 20,600 91 20 A A 2eifarer A | I {0 e W 20% T
qat%enﬁmmzo%mﬁgiehwﬂﬁﬁmmmmuh;i?
(A) 10% @™ (B) 4%

,\)9)/4%mﬁ (D) AEMAER
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7
" na field 6 workers complete 5 | (1) g
| gf)n h;: Many Workers wij be "‘::ll:i::dl:? days. If this task is to be completed in 4 days,
€24 (B) 13
qﬁﬁaﬁ“‘ﬂﬂﬁ qu lﬁﬂq([ﬁ)) 28
‘ﬁ'{fﬂﬂ'{? ng|ﬁ“aﬂ4ﬁaﬁwmﬁ'a}m
() 20 &
o * ¥
imple interest i .
e Ensmml: ? $X640in 5 years a the rate of 8%, then what will be the principal
(A) ¥1.280 L/(B)/r 600
(€) 3,200 D) t2400 _
af foelt = =1 mﬁ““""*ﬂmw}umm,awmm?
(A) ¥1.280 ' (B) 1,600
(€) 3,200 (D) 22400

(16. There is a target of increase in number of students in a University by 10% every year. Ifin
2016 this number was 1500, then in year 2018 on completion of target how many
students will be there in University ?

(A)
©
@&

(A)
©

117. Which condition applies of congru
B

1800
1700

2016 1 7 @@ 1500 ot at 2018 & @i Iff R W

1800
1700

1815
(D) 1915

ﬁmﬂiﬂb # g # wfaad 10% &1 e va @ | AR
e ﬁwé?miﬁmﬁﬁmﬂtﬁ?

(B) 1815
(D) 1915

ence of triangles in the diagram given below ?

(8) RHS rule

i i le
A) Side-Side-Side rule ID)/Angle.sldg-Angleru
:C)) S:d:Ansg-"Side '%‘W 1 @ @ i e R ?
912 foa 2 o & PR ]

B3y
E

S

F g~
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118. Correct pairs of dissimilar st(lpplemcnlary angles in the following diagram are

ST-2

B

A‘_

< F\ >»D
E

LAAT ZDFE and ZEFA; ZAFB and ZBFD
(B) ZDFE and ZAFB; ZEFA and ZBFD
(C) £BFD and ZEFA; ZAFB and ZDFE
(D) ZAFC and ZDFC; ZAFB and ZDFE
ﬁ&iﬁﬁ:imﬁmaﬁﬁﬁ:@wi:
C

A< >D

(A) <ZDFE¥ ZEFA; ZAFB ¥ ZBFD
(B) ZDFEd ZAFB; ZEFA ¥ ZBFD
(C) £BFD¥ ZEFA; ZAFBd ZDFE
(D) ZAFCa £ZDFC; ZAFB 9 ZDFE

119. Two parallel sides of a trapezium are 10 cm and 16 cm respectively. If area of the
trapezium is 78 cm?, then what will be the height of the trapezium ?
(A) 13cm (B) S5cm
(C) 6cm (D) 8cm
T GHE S 3 FHR AT A 10 30 T 16 A | 7f Twerw wqds 1 e
78 =t &eft B, o Iwht drard wn Bt 2

(A) 13 &t (B) 5adt

ey 6ot (D) 8o

120. What will be the circumference of half part of a circle, whose diameter is 56 cm ?

(usen=%2') '
(A) 44cm _¢Bf 88 cm
(C) 22cm (D) 66 cm .
56 2t = ATt Pet g 3 3t sy ) whey B ?(F;maeml)
(A) 44 @ (B) sg@ft
() 229 (D) 66
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121.

122.

123.

(73)

a'i)staz a:e found in which cell organelle 2
olgi bodies -
() Endoplasmic reticulum (B)  Mitochondria

R R A B

(A) Tl
By gt

(©) Iz snferen (D) hawas
Which is an insectivorous

plant ?
A
(A)  Cuscuta L,(B(az‘rricularia (C) Monotropa
HITE Yreg A a2 -

@ T (B) g () @R

—_—

Which is a red planet in Solar system ?

(A) Mercury (B) Venus
(C) Mars (D) Satumn
s d A TR IR AT R 7 ,
(A) 9 (B) W*®

Oy T ©®) W

124.

DOTS is a short form of

(A) Directly Observed Treatment, Short Course
(B) Directly Observed Treatment Scheme

(C) Distantly Observed Treatment Scheme

(D) Distantly Observed Treatment Schedule

DOTS, frae &g @& & ?

LAY s i ITER, @Y (B) e S e A

125.

(© e dfm e (D) G i S

Which food group is richest in energy in terms of kCal per gram ?

(A) Cereal, Millet and Pulses
(B) Vegetables and Fruits

(C) Milk and Milk produc '
0il & Fats and Nuts & Oilseeds

ﬁqmﬁmw,ﬁm\ﬁﬂﬂﬁmm%ﬁmh

(A) 3T, freie @@ T

(B) wfewai @@ & .

(©) zgqégam,wﬁﬂﬁ"m
(D) et a1 wE e @ (AT

ts, Egg, Meat and Fishes

New Section 1 Page 41

(D) Orobanche

(D) FRE=hHt



F

126.

(74)
Which one of the followin

e & statement is correct with reference to Luteinizing Horm
)?

t/(,k)/' It stimulates Leydig cells to produce testosterone.

127.

(B) Itisa neurohormone.
(C) Itis secreted by Graafian follicles.
(D) It does not show synergism with FSH,

T € % W § P @ W w2

(A) qﬁmﬁﬁmﬁﬁmm%mmmtl
(B) TuHdbmammy

(©) =& o} gew @ wfm B 2 |

(D) & FSH % wry wed i gt 2 |

The strategy of alternation between sex
(A) Polyembryony (B) Parthenogenesis
(C) Heterogamy (D) Apomixis

e i S % Wt T 0w s 2

ual and asexual reproduction is known as

128. Objectives related to aﬂecti\{lﬁ domain mainly concerned with

129.

130.

(A) Knowledge (B) Application

(C) Valuing ' (D) Comprehension
I T @ wafa IR ge w9 R iy
(A) A (B)
y \_9)/ I (D) ®m
Which one of the following is not a characteristic of a good test ?
(A) Reliability (B) Planning _
(C) Objectivity (D) Discrimination
Prferfiea 3 & St € fadtwan v som whem £ 78 2 2
(A) Tavagdgar - BT A
(C) wEgea (D) - fardeamrfea
An example of projected teaching aid is
(A) Bulletin board (B) Overhead projector
(C) Chart (D) Model
wardt fraor amft %1 v IerEr
(A) TR \(B) stecks SR
(C) =R (D) wiew
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(31. ?\u; Oi?; follow; ich (75) .
- €ach;
(B C ure-cum.p onstrat Ing met
| (B)  Lecture methoq 10N methog

I (C mblem leVin
m
\’{f;boratory meﬂg‘l odethod

AR 38 % o o
(A)  STEYH wayiy e (B!'";ﬁ““'ﬂﬁﬂmmmg?
(C) mwm (D; Wﬁ:&‘

132. Out of the following whicp
o comes under * .
. \_(A)—Scientific laws Fncer "Product of Science™ 7
(C) Formulation of hypothesis (>) Scientfi ttitude

frefefea 3 3 (D) Experimentation
1 R 5 3012 3 st s 7
(A) 'T"I ™ P B)
© il (D) W& e
. QIS:J 5()){1‘.;;;):;::1(:8 t;ollowing which innovative teaching method covers all domains of objectives
“—A) Team teaching (B) Micro teaching
(C) Brain storming (D) Programmed instruction
Fraferfea & @ b wt T fro Rify 3 R & Rt F o vzl 5 amn g d 2
(A) = T (B) §& freg
(€) wferss e (D) femwfia s

134. Which type of teaching should be planned after diagnosting the leaming difficulties of the

students in science teaching ? _
(B) Team teaching

(A) Micro teaching . |
i i i Remedial teaching
%ﬂm%swg m%%ﬁm%mmm%mﬁm
) =Rl ? —
Rrggor
Eg)) g::mmﬂm (D) ST e

f determining the extent 10 which educational objectives are
135, ic process © et
A systematiC P < is known as

achieved by the pup! Evaluation

(A) Training (D) Experiments 2
©) Diagnosis:ﬁ mtﬁmaﬁmmWﬁmﬁﬁWMt’qm"ill
T g NiRa1 1 A€ (B) T
TN

(&)

L /
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136. “Defining” Action verb is related with which behavioural objectives ?
(A) Affective (B) Psychomotor
NSy~ Cognitive (D) Affective and Psychomotor
“gfonfia wen" R e e sraeoTa St A gafRa 7
(A) WrETEH® (B) WA
(C) WA (D) AT T& FAIRATTS

137. Out of the following frame of Linear Programmed Instruction, which of the following
frame is exactly related with teaching-learning content ?

\/(A*)/ Teaching frame (B) Introductory frame
(C) Testing frame (D) Practice frame
Yt sfiwfa sRe & Prafifes ug § @ $1 @1 vg Aiftes w9 & g o arel fvaag
FvafAa ?
(A) fgorag (B) ST 9%
(C) ity ug L4 (D) R

138. An object of mass 0.75 kg is hanging from a string attached to roof. What will be the force
applied by string on the object ?

(A) 845N UBY 735N

(C) 685N (D) 98N
0.75 kg Z599 1 T favg oa & 2ft St & wres gan ? | 3 g fve w fva a= m 2
(A) 845N (B) 735N
(C) 685N (D) 98N

139. Which of the following statement is true for an oscillating simple pendulum ?

(A) Potential energy is minimum at maximum displacement position.
(B) Potential energy is maximum at maximum displacement position.
(C) Kinetic energy is minimum at equilibrium position.
(D) Potential energy ‘s maximum at equilibrium position.
T 2o W T EE diers & ol i ds e s Ea R 2
(A) i e T s # fufw st =Eam R |

By~ wftreen T sraeen # fufes ot aftan @1
(C) WIeA e # i Sl e R |

(D) Wmﬁ%mmt |
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P
= HT A D) -g
(A) -8°F T

\y—SR (B) -8
T -8
@ 1 joule is equivalent to g
ONUS
(A) 4.2kCal (B) l:)z/c; |
| 9 T B }
(A) 4.2 kCal (B) 42 Cal

142. What should be the minimum hei
height ? “

B) --BOC

°R
°C
°R
© ‘l'kCal 1
42 (D) ﬁ(‘a]
(©) ‘l—kCal !
42 (D) IECal

ght of a plane mirror to get full image of an object of 2 m

C) 4m (D) 05m

7@ A 20§ 2 m durd g w1 gl i 3w 3 R odon ) am e feeh

\,(A’)/lm (B) 2m
Bt =i 2
(A) Im (B) 2m

143. Sound transmission takes place as

(A) Stationary transverse wave (B) Progressive

(C) 4m (D) 0.5m

transverse wave

(Cy Progressive longitudinal wave (D) Particle form

wafi o G g
(A) mmmwﬁ
(©) bl s an w4 H

(B) agnmmnﬁainmﬂ
(D) 01 &Y §

gisa Green-house gas ?

144, Which of the followin
(A) Nitrogen \g/ﬂ?’;o"’fgm .
(C) Oxygen rak? :
Pt & @ @i d RA TEIEE
(A) RN ® T
©) e @) T
. nitride i N
. Chemical formula of ATSME::“;ZN’ Ly (H)N @) (NHON:
(A) NH,N i
- H N
Ffrm AmegTes B ®) ?13&);"; (€) (NHpN (D) (NH™2
(A) NH,N
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146. Monomers used to prepare artificial fibre Dacrop is
(A) Ethylene glycol and Acrylonitrile
(B) _Ethylene glycol and Vinyl Chloride
' Ethylene glycol and Terephthalic Acid
(D)  Ethylene glycol and Acetonitri le

PO X 3 TR F e v 2

(A) ferefi wemgmier aen Yfpeimeerser
(B) frefi wemssier aen frget s
(C) el mgmter aun Sedferss am
(D) frefi wemgenter 7o deftemserser

147. Antacid substance used for the treatment of acidity in stomach is

(A) Caustic soda (B) Caustic Potash
Jg)/Milk of Magnesia (D) Lunar Caustic

ST I FETA F1 IT=R H 3 10 g why 3t 2

(A) Wit g (B) wifers e

(C) Tirew e Afifern (D) W HRH
148. Coal containing maximum percentage of carbon is

:g; ;?:l:minous \./:’g;/klngtmh::cite

wien frd s 6t watfies shroaa §

(A) iz (B) fermge

(©) fagah (D) UymeTge

149. Which of the following is an output device ?
(A) Magnetic Ink Character Recognition (MICR)
(B) Optical Character Recognition (OCR)
(C) _Optical Mark Reading (OMR)
Visual Display Unit (VDU)
Frafefga 3 & w15 a1 3msege sywm 2
(A) TAfeH 3o Haet RefeA (MICR)
(B) 3ATReher siaet f@ ¥ (OCR)
(C) JiTRewet arh &1 (OMR)

- (D) g3 feet gf3e (VDU)
150. Who discovered Penicillin ?

(B) Robert Hooke
28 Ei::nrd l&l:::er P A?exander Fleming
Wﬁmmﬁ ?
ead I (B) TH’EgF
o W .
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L&/ 5 5T SECT

There ar¢ 60 questions j

1ON-1v () /gy _ 1y )

SOCIAYL
STU
DIES / qrifires srer

n ajl in thi

this sect
. 0 :
qust answer all the qQuestiong N. The candidates who have selected this subject

92.

%,

. What does ‘we the

’ people ia? .
India mean ? Pie of India’ a5 mentioned in the preamble of the Constitution of

(A) Sovcrefgnty lies with the Chief Justice of India
(B) Sovereignty lies with the People of India
(C) Sovereignty lies with the Political Parties of India
(D) Sovereignty lies with the Speaker of the Lok Sabha
wTa & G Y s F sfesfan B9 R F A A i R 7
(A) HEINAT WRE % gEg =ramdie § fifka 2 | |
[ (BT HESTAT T % i o fifka @
(C) EFHYAT WA % T 2wl Afga 2 )

(D) HEIYaAT AlHaNT & ey | ffga |

Under which Article of the Constitution of India untouchability was abolished ?

(A) Article 16 (B) Article 17
(C) Article 18 (D) Article 19

s % e 3 P B s S g 1 e 2
(A) 3T 16 Ly TR
©) T 18 @) TR

1 : 9
titution of India the Fundamental Duties are enshrined ?
ns

In which part of the Co @) Par q
U(g))/'PaﬂI\:/A - (D) meﬁ,—mma7
Part afifea 3
s e P AT
(B) -1l
(A) wm-V WTT-V1
(D)
(C) wF-IV-A

e
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96.

97.

(80) 5T,

Article 25 of the Constitution of India is related to
Freedom of Conscience and free profession, practice and propagation of religion

(B) No discrimination would be done on the ground of religion, race, caste, language or
any of them.

(C) Right to education.

(D) Minority Institutions.

Wt e 1 sigede 25 i

(A) - 37:%T0r <6t Tyt RS o 3 wrer, aname sk w6 w@E

(B) v, yeraw, wiify, mﬁ%%@%ﬁwﬁtmmﬂmﬂﬁmm !

(C) foram =1 srftrn

(D) 3IrevsEgs Tyl

Which of the following is not a constitutional provision related to Social justice ?
(A) Reservation for SC and ST in Government jobs.
(B) Reservation for SC and ST in Legislature.

} (€ Equal pay for equal work.
(D) Prohibition of Child Labour.

Pt 3 & amnfires =i & e wdurfie sraum T 2
Segefie ey ¥ et At 3 s
(B) forenfir % srafera s, sty g s
(C) ®9H %/ &g 99 Aa
(D) =ret 3w fauy

What is the Quorum required to run the proceedings of the Lok Sabha ?
(A) 1/4"™ of total members (B) 2/3" of total members

(C) 1/3" of total members LBy 1/10™ of total members
FAHET ! FIEATE F Ao % 1Y Smavas g 7

(A) T T @1 H1 1/4 91 9T (B) o1 WS WAL 2/3 51 Wy
(C) o1 §SH §&ATH1 1/3 a1 9T (D) Tt Heed 981 %7 1/10 51 9y

Which Article of the Constitution of India provides for a Council of Ministers which shall

aid the President in the exercise of his functions ?
Article 74 (B) Article 78

C) Article 79 (D) Article 80
%%m%méWﬂWMwm!ﬁﬁswﬁaﬁmﬁm*

fiydem # ERIAn g U1 ?
(A) T 74 (B) g8
(€) FFBRT (D) 3380
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o8.

100.

101,

Who appoints the Sy, @1

: te Elect:
(A) Chief Election cpyrr 0N C F
(B) President of Iy, di:mmms"’ner 0;.“‘53::ner 9

overnor of the C
(D) The LegiSlalive A‘;ncemed State

(8 mtm%ﬁﬂmmé? e
| ™ (D)) :::tmﬁmm

the advice of the Sigécine Cou:.mary amendments in the proposed legislation on
m%_aﬁamm%miﬁnﬂﬂmmmmqm ?

(A) ERaw 6t save A wafRia R qme vt et e & v d asa |

(B) Trgafa g wift 9 W waEt e 3 woest 23 g e d |

(C) Trgufa wats =wrer g ol M v S wA Bg A T R

(D) W= ATATETE & W FEH SR e s i s dei soaed |

Electoral College for the election of the President of India consists of
(A) only the elected members of Lok Sabha
(B) all members of Lok Sabha

(C) only the elected members of the parliament of India and the Legislative Assemblies

of the States. . o '
ed bers of the Parliament of India and the Legislative Assemblies
®) glt:l'lt{'u:h ;t:t:gandnl}z?on Territories of Delhi and Puducherry.
w7 3 Tty % A F fyatas wvee
(A) Fa= a’lﬂ::ﬂ & Hﬂ;ﬁ acH
®) W 5 35 er P
& faur-
C s & T ) A
Soaer Paifad 96
Longest river of Asia is (B) Yang-ti-si (Yangtze)
(A) ‘Hwang-HO (D) Lena
Mekong .
(A) ‘I'T'T:'@ o) fo
(C) AHFT
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102, Kilimanjaro mountain lies in which country ?
Tanzania (B) Kenya
(C) Uganda (D) Rawanda
feferam udq fg W st
(A) dnfr (B) =y
©) = (D) TarE
103. The average temperature at stratopause is
(A) 43°C (B) -50°C
(©) 100°C (D0 °C
AT H R i v e
(A) 43°C (B) -50°C
(€©) 100°C (D) o°C
104. Basalt rock 1S an example of
(A) Hypabyssal rock 06B] ™ Extrusi ve Igneous rock
(C)  Plutonic rock (D) Metamorphic rock
RALCE S E S
(A) ITaTEiy $e (B) wrw mig 9=
(€) iy e (D) wriafa de
105. The average energy flow from one trophic level to another is
(A) 15% (B) 5%
) 10% (D) 20%
TS 9190 R Y ﬁwmwmmfwm@m%
(A) _15% (B) 5%
10% (D) 20%
106. Whose emissary was Magasthanese ?
(A) Alexander (B) Bindusara
(C) Wilsonl (_(D‘)/glelucus
a1 Trorga o 7
(A) R (B) fagEn
© ) (D) ¥vgwu
107. Who was not the Navaratna of Chandragupta 11's court
(A) Vafruchi (B) Varahmihir
(C), Dhanvanti (D) Fahiyan
FH T el Bt e f e ey T ?
(A) Twh (B) wugfifx
(C) wFa=R D) ST
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_ The name of Mah ,
108 e s arana Pratap’s elea[;am was
(® Mardana (D}) ghetak
TN AT & BTt A o cer Prasad
109. Social refm‘-mer (?ovind Guru was bom in a
\ig/:ﬁ?::ﬂyiy (B) Farmer family
an 1 D) Jami :
mﬁmgum'hﬁagswmga; e Gty
(a) e R (B) o aham i
() s e (D) elfer ofeawe
110. Who wrote ‘Chetawani Ra Chungatya’ ?
(A) Pratap Singh'Barhalh (B) Jorawar Singh Barhath
(C) Rao Gopal Singh o (D) Kesari Singh Barhath
et @ < e ford 7
(A) WATIRiE WRES (B) WRafiE anEs
(C) TATARE | (Dy~ Fwliftie anEs
rkar for his higher education

111. Who arranged a scholarship for Veer Vinayak Damodar Sawa

Shyamji Krishna Verma (B) Subhash C handra Bose

(C) Ras Bihari Bose (D) Mohan Singh
Wiwmmaﬁm%fﬂquﬁmtgmﬂﬁlﬂmﬁmiiﬁzﬁ?

(A) ATl Fwr ani (B) YIS e
(€) TEfEr @ (D) e
112. The capital of the Matsya Janpad was
(A) Champa (B) Virat Nagar

(D) Gokulpura

(C) Kushinara
Heg 99E T ot
(A) == L/('B'(W
(€) wefam (D) TFTI
113. ‘Anand Temple’ of Pegan Dynasty is locawd_ i
(A) Pakistan ~(8) Indie
L/(ET/MYNW-&T o) € hina
& o g e e e
(A) e ® ™
(C) Wﬂﬂ iny #'Fl P
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ST
114, Who won the battle of Tarain (1191 AD,)?
(A) Amo Raj Chauhan (B)  Mohammad Ghori
(C)  Prithvi Raj Chauhan (D) Govind Raj Chauhan
T H1IE (1191 €.) R sy ?
(A)  Fvittrs e (B) Hgwye vy
e gedirt e o

115. Which dance fo

117. Painting School

mm of Rajasthan is included in intangible cultural heritage list of UNEg(y,
in 2010 2

(A) Geendar \_/('B)/Kalbeliya
(C) Bhawai (D)  Kachchhi Ghodi

T A o e wg 2010 F = (UNESCO) I wiepf e g i wfafy,
e mrd

(A) fizg (B) wreraferay
(C) ward (D) et v

116. Who was the husband of Saint Meera Baai ?

LAAT" Bhoj Raj (B) Ratan Singh
(C) Narpat Singh (D) Sangram Singh
#«w%qﬁwmm
(A) W (B) wfirg
(€) Tyafiz (D) wumfyg

‘Bani-Thanj’ 1s related to

(A) Satwant Prasad (B) Nagri Das

(C) Mrigawati (D) Shiv-Paryat; *

ﬁamﬂaﬁ'w-‘aﬂ'!rﬁﬁmt

(A) ww= yar LBy Amrtrery

(©)  Tpmad (D) fra-urk
118. Who was related to Dadrewa village of Churu district 9

(A)  Pabuji (B)  Gogaji

(C) Harbhujj (D)  Devnarayanjj

F&ﬁ%%méﬂﬁht

(A) wrgsh UBY Tt

(€) woph (D) dsmrvrsh
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Who among the followin . e
(A) Padmini Deyi & sacrificed her jie ip Khejarali Movement ?
(C) Meena Devi \f;)r&am\a Devi
: o .
gveelt HAgem i RALE | T ﬁ:q?% Devi
(A) RE ®) ?
©) o) :jm&::h

Who wrote ‘Vande Mataram® : ‘
(A) Bankim Chanr, C‘;‘a:ta:]l"leebook Anand Math’ ?
(B) Vyomesh Chandra Banerjee

(C) Vipin Chandra Pal

(D) Ravindra Nath Tagore

T S 7 | TR W fre forar 7

N L (B) wititererg ael
(©) faftme= = (D) Ttz i
121. Which of the following place is not connected by National Highway No. 15 ?
(A) Jaisalmer (B) Barmer
(C) Hanumangarh : (D) Bikaner

frfafiaa § @ #f w w@ T Tomr den-15 g T 931 R ?
(A) JEEH Do 1S (B) WrgH
(C) TG —— (D) Licaci

122. Which of the following is the largest man-made soft water lake in Rajasthan ?
(A) Pichhola (B) Jaisamand
Rajsamand
C) Fatehsagar (D)
%;ﬁhaﬁﬂmmﬁﬁ%wﬂmwmﬁﬁaﬂammg ?
(A) Reten \_,LBr)/WW"ﬂ
(C) wABEFR (D) g
i were known as
123. The devotees of Vishnu B Pecapans |
:8 I:?yanars (D) Lingayats
wars
iy 3 sy R & "
A) TFHR .!!
\_,:e))/- ST (D) ferr
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(86) ST
124, In which one of the following source mentioned the Sixteen Mahajanapadas in Anciep,
India is found ? '
Anguttar Nikaya (B) Divyavadana
(C) Rigveda (D) Suttapitak
mﬁammﬁmm%ﬁmwmmt ?
(A) 3R (B) Rsyragm \
(C) =g (D) Hufres
125. The old name of the river Ravi was
(A) Suvastu (B) Kubha
&)y Parushni (D) Dwashdwati
Tt 78t %1 W= A o
(A) gag (B) Wi
(C) wweft (D) gt
~ 126. The capital of Shoorsen Janapada was
(A) Mathura (B) Vrindavan
(C) Indraprastha (D) Kurukshetra
YA TG 6 e oft
AT Y (B) g
(C) =5y (D) Fo&a
127. State ‘Rajasthan’ finally formed on .
November 01, 1956 (B) May 15, 1949
(C) March 25, 1948 (D) January 26, 1950
TS TFEI 39 ofeqel &9 7 39 fafes ) anl amn
(A) TR 01, 1956 (B) #¥ 15,1949
(C) = 25, 1948 (D) =&t 26, 1950
128. Social Studies is taught at
( Secondary level (B) Senior Secondary level
C) Graduation level (D) All of the above
I e & e e w2
(A) wTeEfE Ww (B) I WIEARH W W
(C) T &R (D) 3w avft
129. Taxonomy of objectives in education is given by
(A) John Dewey (B) Smith
.S. Bloom (D) LK. Davis
fare & 32w 1 effetor fay ma 2
(A) iR (B) famgm
(€) #eE =EI (D) 3. &. 3w g
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of curriculum inclyges

Lo Internal activiti
& {A llCSOfasc
©) Both of them hool(g) External activities of a school
Wa;aaﬁmﬁ'at (D) None of them
y) faee ) i
Mﬂﬁ 2t ) Forerera 3 e fand
(D) it 3 & vd 7

gocial Studies text book shoulq :
iy (A) the Author be acco ing to

() the Teacher e ::e gtudem
AT A P LOvernant
N TG, I g
(A) - (B) foemeff &
© FuEws (D) WHR
132 SQCiaI Studies teacher is telling the sequential process of election in classroom. She is
using the technique of .
(A) Ea'r.plana_tion \_{By Narration
(C) Discussion (D) Questioning

e e Y areaven e & T e whE w @ @ | 7w e s s

@R, TR
(A) =T (B) &9
() ufe=i (D) WE BT

133. Social Studies teacher should give emphasis on

A) giving information related to subject. o
o gew:l?)ping thinking power of students towards social issues.

(C) preparing students for exams.
(D) language development of students.

mm%mgﬁh

] gafua W

::)) %ﬂﬁg@%uﬁ%mﬁﬁ%mm
(€) ﬁuﬂﬂﬁaﬁqﬁm%mmﬁﬁq‘

: i i ing for
134, Visiting historical places is useful in Social Studies teaching
(A ceating merstin Sbiect
(B) providing first hand '“?l‘;?“em ‘
(C) better understanding®

DY All of the above- mﬁﬂmmi
mﬁ;mwﬁtﬁmﬁ*
o +ad (B) mmmw}ﬁ
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135,

136.

(88) ST
Bloom's lesson plan is based on '
D(A‘)/m Objectives (B)  Content
(C) Presentation (D) Al of the above :
&4 1 913 W e 2
(A) Fewbiw (B) fawag o
(€) weforor v (D) 3%t ofy

The project is that purposeful work which is done with complete devotion in the socig)
atmosphere. This statement is that of

:3)) melln)ew (B) Crow and Crow
o ey DT Kilpatrick !
mﬂ%ﬁwwtﬁm%mmﬁmmﬁﬁmmt | gEHY
(A) =m® (B) 3h! 7vg wi &
(C) S (D) fwerdifees
137. In Social Studies which of the following test provides an opportunity to evaluate student's
independent thinking ?
(A) Objective type test L,(.B‘)/Essay type test
(C) Short answer type test (D) Very short answer type test 1
mmﬁﬁnﬁﬁmmmuﬁ%mﬁmtmw HAE WA Ht R 7

138

140.

(A) ==qf8 v 6 v (B) Fravrers waw &t ghte
(C) =q-300a YR 5t ghay (D) Ffa-ereoeres wer ) vhay

. Which of the following is a *‘Rabi’ Crop ?
(A) _Jute (B)  Groundnut
Mustard (D) Water-melon
Fraferfiaa & @ o @t @ sam L 5
1.
(A) (B) meeft
(C) @l (D) agw :

Inland National waterways ?
(A) National Waterways No. | Mstional Waterways No. 2
(C) National Waterways No. 3- (D) National Waterways No. 4

ﬁﬂﬁr&aﬂﬁﬁmmmw*mwwa wifeEr & quty H A IR 7
(A) Tr et de- | (B) Ugr Jewmwt w2

(C) YT stemr gwgn-3 (D) T e Hwar-4 14
What was the male literacy rate in India as per 2011 Census ?
82.14% (B) 65.46%
(C) 72.36% (D) 78.30%
2011 Y TV ¥ FFER WA F oy wnaen o0 Roe oft 2
(A) 82.14% (B) 65.46%
(C) 72.36% (D) 78.30%

'

1 : i
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§1-2 The winter rainfal (89)
< rain 1 -
ut (A) Arabian S:a " India s the result of cyclones, which originates from
(C) Red Sea (B) Bay of Bengal
wid 8 Wawrefis auf £ \ BT Mediterranean Sea
(A) I HWR ¥ e B 2t v a7 oo 8 7
(B) wme
(C) e HIR o) 2:'@

142. The area in Indo-Gangetic pla: .
(A) Tarai Region getic plain where internal channels re-emerges is locally known as
. (B) Bhabar Region

(c.‘) ‘Bangar Region (D) Cho
Ferg -7 % A 8, et & it wae . v @ 8, werefv & e o 2

»‘”/“?‘*“%" (B) e wew
(€) WR¥ew © B
143. Which of the following energy resources is credited to trigger modern industrialization ?
(A) Hydel Power (B) Atomic Energy
A4S~ Coal (D) Non-conventional energy
amyf st 3 grer w1 v Prfrien § & Rra st sanE @ e 2
(A) e faga (B) 3mmifes i
(C) wrEe (D) -vqregmTE et
144. Which of the following State of India has banned chemical fertilizer for sustainable
agriculture ?
(A7 Sikkim (B) Arunachal Pradesh
(C) Andhra Pradesh (D) Goa

Rraprs (STl waa) i 2g Frefafea § @ e & frw o 3 Temie @ & swm
H Afgw e ?
(A) fafew (B) 3IEUTE WeH

©) iy s (D) TN

145, Which of the following fron and Steel Plant was established with the technical
. ich o .

collaboration of Britain ?
(A) Bokaro Steel Plant (B~ Durgapur Steel Plant
(D) Vijaynagar Steel Plant

(C) Raurkela Steel Plant 3 & aeiteh wedm & g oft 7
i (B) GG FETa HA

(A) WreR) geaTd G4 .
(©) e yea 94 (D) R e
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146.

147.

(90)

Which of the following river is notorious for ‘Badland’ ?
Chamball (B) Krishna
(C) Godavari (D) Tungabhadra

ﬁwhfkaﬁémmw‘mtﬂﬁ' (Badland) % fére eama & 7
(A) w=s (B) wwm

(C) et (D) gmE

The habitat of ‘Yakut’ tribe is

(A) Neéw Zealand (B) __Congo Basin

(C) Amazon Basin b(’D)/ﬁnnh Siberia
‘W'Wwﬁwmm(mwn)t

(A) =Efiets (B) =i=n afm

(C) Fmivm Ifm (D) It wrsafar

148. Ghagghar Plain is situated in

_AY" Gangdnagar and Hanumangarh Districts

(B) Jhunjhunu and Sikar Districts
(C) Jalore and Sirohi Districts
(D) Jaisalmer and Barmer Districts

e 1 e wrafia R
(A) TR 3R g e d (B) wL T de et o
(€) e an R Rt d (D) Swer e aredn fredt i

rjbresult
149. The first textile mill of Rajasthan was established at
(A) Ganganagar (B) Bhilwara
(C) Udaipur Py Beawar
TSI 1 994 I IUPT 241 g3 o
(A) TR (B) fieramst
(C) IR D) W
150. As per 2011 Census, which of the following district of Rajasthan recorded lowest deca
pulation growth rate ? _
% Ganganagar (B) Bflnd‘
(C) Baran (D) Sikar s o
2011 & IFIET F IFFER, frfafas 3 & oA & fha R ) 2wy sas
s W ?
A) TR ®) @
( (D) #a
© ¥ : .
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